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Problem quickname: 9229

1)

Calculate the result.
a) (+8) - (=5) = —40
d) (+5) - (—4) = —20
g) (=5) - (=2) =+10

i) (+6) - (=3) = —18
2)
Calculate the result.

a) (—12) - (+7) = —84
d) (43) - (=14) = —42
g) (+14) - (—3) = —42
i) (—16) - (+18) = —288
3)

Calculate the result.

a) (+16) - (—14) = —224
c) (+ ) (-1 ) = —52
e) (—17) - (—12) = +204

g) (—33) - (—33) = +1089
i) (—44) - (+39) = —1716
4)

Calculate the result.

a) (—58) - (— 20) +1160
c) (+34) - (—23) = =782
e) (—4)- (=7 ) +300

)(+86) (—54) = —4644
i) (—93) - (—66) = +6138
Good Luck!
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Solutions to smp-9229-2/DNBB
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b) (+3) - (—8) = —24 ¢) (+9) - (—8) = —72
e) (—8) - (+5) = —40 f) (46) - (—4) = —24
h) (+6) - (—9) = —54 ) (+3) - (—6) = —18
b) (+17) - (—9) = —153 ¢) (+8) - (—=17) = —136
e) (—16) - (+2) = —32 £) (=8) - (+17) = —136
h) (+5) - (—=13) = —65 i) (=17) - (=2) = +34
b) (+42) - (—29) = —1218
( A7) - (—49) = —2303
f) (—22) - (+12) = —264
h) (+21) (—16) = —336
i) (=19) - (+31) = —589
b) (— 12) (—92) = +1104
d)( 6) - (+75) = —6450
£) (=58) - (—42) = +2436
h) (— 89) (—31) = +2759
i) (=32) - (+79) = —2528
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